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Instructions : Figures to the right indicate Full Marks.

Write any three questions from following eight questions :

Explain the Traditional Status of Women in India.

Write about National Commission foe Women.

Briefly explain the rights of Children in India.

Explain the factor affecting to Ageing.

Describe the Government Schemes for disabled.

Discuss the unemployment as a problem of Indian Youth.

Briefly explain the ICPS Scheme.

Explain the types of disablility.

MCQs (any four) :

(1)
)
G)
4)
©)
(6)
)
8)

In which year did ICPS Scheme Start?

(a) 2007 (b) 2008 (c) 2009 (d) 2010

In which year Domestic Violence Act came into force?

(a) 1986 (b) 1987 (c) 2005 (d) 2006

In which year did the Child Labour Act come into existence?

(a) 1986 (b) 1987 (c) 1988 (d) 1989

When was the National Commission for Women Established?

(a) 1991 (b) 1992 (c) 1919 (d) 1929

When did the Sexual Harrassment of Women at workplace act come into force?
(a) 2011 (b) 2012 (c) 2013 (d) 2014

What is the age of adolescence?

(a) 0 to 5 years (b) 5 to 10 years (c) 20 to 25 years (d) 10 to 19 years

What is the age of child?

(a) 0 to 18 years (b) 18 to 25 years (c) ‘A’ and ‘B’ both (d) None of the above
Which of the following is not a factor affecting aging?

(a) Unemployment (b) Biological factors (c) Genetics (d) Putsch.
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